Last Name	First Name	Contract	FTE	Annual	Current Job Class Title
Last Name	riist Naiile	Days	FIE	Salary	Current Job Class Title
ANGLIN	RUSSELL	205	1.00	\$59,382.92	TEACHER/COACH 205 DAYS
BARE	KATHERINE	195	1.00	\$38,724.35	ELEM COUNSELOR 195 DAYS
BAXLEY	ELIZABETH	190	1.00	\$51,537.00	SP PATH FULLY CERTIFIED
BLAKE	DEBORAH	190	1.00	\$54,314.00	CLASSROOM TEACHER 190
BLEND	DEBRA	210	1.00	\$45,568.45	TEACHER/COACH 210 DAYS
BONE	BRADY	205	1.00	\$40,758.28	TEACHER/COACH 205 DAYS
BONE	TONY	210	1.00	\$60,345.21	TEACHER/COACH 210 DAYS
BRADLEY	CAVIN	210	1.00	\$43,836.53	TEACHER/COACH 210 DAYS
CAMPBELL JR	BRUIN	240	1.00	\$82,980.71	HEAD COACH/TEACHER 240
DAVENPORT	BRIAN	240	1.00	\$56,343.16	HEAD COACH/TEACHER 240
DEAN	DARRYL	240	1.00	\$62,050.48	ROTC
EASLEY	AILENE	200	1.00	\$61,910.12	VOCATIONAL 200 DAYS
EASTER	CLARK	240	1.00	\$79,776.64	ROTC
ERSTINE	KRIS	205	1.00	\$58,305.51	TEACHER/COACH 205 DAYS
FINLEY	TERRY	206	1.00	\$61,615.97	TEACHER/COACH 206 DAYS
GINTHER	JAY	210	1.00	\$54,748.75	TEACHER/COACH 210 DAYS
GRIMMETT	EMILY	210	1.00	\$47,244.22	TEACHER/COACH 210 DAYS
HARDIN	AARON	190	1.00	\$45,323.00	CLASSROOM TEACHER 190
HOWTON	SANDY	190	1.00	\$48,772.00	CLASSROOM TEACHER 190
JOHNSON	JOHN	210	1.00	\$57,995.30	TEACHER/COACH 210 DAYS
LAWRENCE	JEANNE	190	1.00	\$45,423.64	SPEC ED TEACHER 190 DAYS
MCCLENNY	CHRISTOPHER	210	1.00	\$55,511.93	TEACHER/COACH 210 DAYS
MCHONE	RONNIE	240	1.00	\$84,227.60	SHS BAND DIR 240 DAYS
MICHAU	ALLISON	195	1.00	\$52,710.54	TEACHER/COACH 195 DAYS
MOORE	MICHAEL	210	1.00	\$66,541.62	TEACHER/COACH 210 DAYS
OWEN	STEPHEN	210	1.00	\$43,424.63	TEACHER/COACH 210 DAYS
OWENS JR	CARL	210	1.00	\$48,699.73	TEACHER/COACH 210 DAYS
ROCHELLE	GWENDOLYN	195	1.00	\$47,817.08	CLASSROOM TEACHER 190
SCOTT	GREGGORY	210	1.00	\$54,869.89	SHS BAND ASST 210 DAYS
SCOTT	JOSEPH	240	1.00	\$58,441.88	HEAD COACH/TEACHER 240
SHIPP	KIMBERLY	190	1.00	\$53,714.00	CLASSROOM TEACHER 190
STRAWN	TAMARA	210	1.00	\$43,849.91	TEACHER/COACH 210 DAYS
STRINGER	HEATHER	210	1.00	\$50,922.51	TEACHER/COACH 210 DAYS
TODD	WENDY	190	1.00	\$44,411.00	CLASSROOM TEACHER 190
VACCARO	BETH	195	1.00	\$46,822.01	TEACHER/COACH 195 DAYS
WEBB	DONALD	205	1.00	\$50,492.23	TEACHER/COACH 205 DAYS
WEIGAND	MATTHEW	205	1.00	\$43,995.48	TEACHER/COACH 205 DAYS
WELCH	LOGAN	205	1.00	\$42,015.58	TEACHER/COACH 205 DAYS
WESTFALL	HUGH	200	1.00	\$49,247.87	TEACHER/COACH 200 DAYS
WILSON	DAVID	190	1.00	\$46,681.00	CLASSROOM TEACHER 190
WOLFE	DENNIS	210	1.00	\$54,665.22	JR HIGH BAND 210 DAYS
WOLFE	KELLY	210	1.00	\$58,626.78	JR HIGH BAND 210 DAYS
WOODALL	EDDIE	205	1.00	\$63,445.34	TEACHER/COACH 205 DAYS

ABEYTA	LAURA	190	1.00	\$40,492.00 CLASSROOM TEACHER 190
ADAMS	MEGAN	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
ADER	AMANDA	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
ALBRIGHT	KAREN	215	1.00	\$62,469.98 COUNSELOR 215 DAYS
ALDERMAN	ALISA	190	1.00	\$43,720.00 CLASSROOM TEACHER 190
ALLEN	AMANDA	190	1.00	\$41,761.00 CLASSROOM TEACHER 190
ALLEN	SARA	190	1.00	\$39,802.00 CLASSROOM TEACHER 190
ALLEN	SHELLY	190	1.00	\$41,871.00 CLASSROOM TEACHER 190
ANDERSON	ELLEN	190	1.00	\$49,552.00 CLASSROOM TEACHER 190
APPLETON	BRYAN	225	1.00	\$65,266.51 ASST PRINCIPAL 225 DAYS
ARCHER	SHANNON	190	1.00	\$53,714.00 CLASSROOM TEACHER 190
ARNOLD	LARRYANNA	190	1.00	\$42,562.00 CLASSROOM TEACHER 190
AVANT	NYLA	190	1.00	\$43,720.00 CLASSROOM TEACHER 190
BASEMAN	JENNIFER	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
BELL	RHONDA	190	1.00	\$48,972.00 CLASSROOM TEACHER 190
BENFIELD	GWYNNE	190	1.00	\$46,012.00 CLASSROOM TEACHER 190
BEST	JENNIFER	190	1.00	\$45,790.00 CLASSROOM TEACHER 190
BETHEA	CRYSTAL	190	1.00	\$43,253.00 CLASSROOM TEACHER 190
BIBB	TERI	190	1.00	\$48,173.00 CLASSROOM TEACHER 190
BILYEU	CHARITY	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
BLACKERBY	THOMAS	190	1.00	\$51,933.00 CLASSROOM TEACHER 190
BOATRIGHT	FAITH	200	1.00	\$51,537.41 SCHOOL LIBRARIAN 200 DAYS
BODIFORD	CARRIE	190	1.00	\$45,301.00 CLASSROOM TEACHER 190
BONE	TERRI	240	1.00	\$71,805.91 ASST PRINCIPAL 240
BONNER	LISA	190	1.00	\$42,341.00 CLASSROOM TEACHER 190
BRADEN	ALAN	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
BRADSHAW	MARY	190	1.00	\$52,133.00 CLASSROOM TEACHER 190
BRANCH	KARON	190	1.00	\$47,503.00 CLASSROOM TEACHER 190
BROADAWAY	HUNTER	190	1.00	\$39,111.00 CLASSROOM TEACHER 190
BROWN	DAWN	190	1.00	\$39,802.00 CLASSROOM TEACHER 190
BROWN	JESSICA	190	1.00	\$40,492.00 CLASSROOM TEACHER 190
BROWN	MELISSA	195	1.00	\$47,930.26 ELEM COUNSELOR 195 DAYS
BUMPASS	KRISTEN	190	1.00	\$40,492.00 CLASSROOM TEACHER 190
BURKS	JASON	240	1.00	\$71,155.91 ASST PRINCIPAL 240
BURNETT	JORDAN	190	1.00	\$36,440.00 CLASSROOM TEACHER 190
BURNETT	KAREN	190	1.00	\$42,562.00 CLASSROOM TEACHER 190
BYRNS	PAULA	190	1.00	\$46,481.00 SPEC ED TEACHER 190 DAYS
CAMPBELL	ADRIANNE	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
CAMPBELL	ILA	190	1.00	\$41,871.00 CLASSROOM TEACHER 190
CARDIN	JOHNA	225	1.00	\$62,321.81 ASST PRINCIPAL 225 DAYS
CASEY	AMY	200	1.00	\$49,884.82 SCHOOL LIBRARIAN 200 DAYS
CHASTAIN	AMBER	190	1.00	\$39,000.00 CLASSROOM TEACHER 190
CHENAULT	NICOLE	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
CLARK	SHEREE	190	1.00	\$58,888.70 CLASSROOM TEACHER 190
CLARK II	TOMMY	190	1.00	\$36,241.00 CLASSROOM TEACHER 190

CLAY	CARRIE	190	1.00	\$54,267.00 SP PATH FULLY CERTIFIED
CLAY	LEE	190	1.00	\$39,000.00 CLASSROOM TEACHER 190
CLINTON	DONNA	215	1.00	\$63,395.44 COUNSELOR 215 DAYS
COKER	ANDREA	190	1.00	\$43,031.00 CLASSROOM TEACHER 190
COLES	SUSAN	190	1.00	\$53,714.00 CLASSROOM TEACHER 190
CORLEY	BILLIE	190	1.00	\$45,212.00 CLASSROOM TEACHER 190
COX	KATHRYN	195	1.00	\$42,037.25 VOCATIONAL 195 DAYS
CRAIN	BRANDY	190	1.00	\$40,271.00 CLASSROOM TEACHER 190
CREED	DEEDRA	210	1.00	\$57,082.11 ALC COORDINATOR
CRISS	TRACY	190	1.00	\$47,614.00 CLASSROOM TEACHER 190
CUMMINGS	ALEATHEA	190	1.00	\$39,111.00 CLASSROOM TEACHER 190
CURTIS	LENEE	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
CYPERT	KELLI	240	1.00	\$74,250.61 ACSIP/FED PROGRAM DIR
DALTON	ROCHELLE	190	1.00	\$47,503.00 CLASSROOM TEACHER 190
DAUB	STEPHANIE	190	1.00	\$36,931.00 CLASSROOM TEACHER 190
DAVIDSON	ALICIA	190	1.00	\$54,951.00 SP PATH FULLY CERTIFIED
DAVIDSON	TAMARA	190	1.00	\$50,374.00 CLASSROOM TEACHER 190
DAVIS	SHELLY	190	1.00	\$46,591.00 CLASSROOM TEACHER 190
DEDMAN	JENNIFER	190	1.00	\$43,142.00 CLASSROOM TEACHER 190
DEMAINE	SUE	190	1.00	\$52,133.00 CLASSROOM TEACHER 190
DERBY	TARA	190	1.00	\$47,632.00 CLASSROOM TEACHER 190
DESOTO	SHERRI	190	1.00	\$47,503.00 CLASSROOM TEACHER 190
DEVENEY	JOAN	190	1.00	\$37,621.00 CLASSROOM TEACHER 190
DICKINSON	KATHLEEN	195	1.00	\$59,764.01 ELEM COUNSELOR 195 DAYS
DIEMER	MARY	190	1.00	\$56,494.00 CLASSROOM TEACHER 190
DOUGLASS	ANGELA	225	1.00	\$65,566.51 ASST PRINCIPAL 225 DAYS
DRAPER	KRISTAL	205	1.00	\$47,409.02 VOCATIONAL 205 DAYS
DUCK	BILLI	190	1.00	\$44,521.00 CLASSROOM TEACHER 190
DUNN	ALLEN	240	1.00	\$73,800.61 DIRECTOR OF SPECIAL SERV
DUNN	HEATHER	190	1.00	\$44,632.00 CLASSROOM TEACHER 190
DUVALL	STEPHEN	190	1.00	\$47,172.00 CLASSROOM TEACHER 190
EASLEY	VICKIE	190	1.00	\$56,855.14 CLASSROOM TEACHER 190
EGGBURN	MARSHA	190	1.00	\$52,133.00 CLASSROOM TEACHER 190
ELLEDGE	MALLORY	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
FINGERHUT	COLBY	190	1.00	\$39,997.30 CLASSROOM TEACHER 190
FLEMING	VERA	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
FORBUSH	AMBER	190	1.00	\$36,202.55 CLASSROOM TEACHER 190
FRITTS	STEPHANIE	190	1.00	\$41,181.00 CLASSROOM TEACHER 190
GALYEAN	NANETTE	190	1.00	\$48,662.00 CLASSROOM TEACHER 190
GARTMAN	JEANNE	190	1.00	\$49,663.00 CLASSROOM TEACHER 190
GERETY	JANNIE	190	1.00	\$50,552.00 CLASSROOM TEACHER 190
GILLISPIE	LISA	190	1.00	\$44,411.00 CLASSROOM TEACHER 190
GLASSCO	MARIANNE	190	1.00	\$56,494.00 CLASSROOM TEACHER 190
GLAZE	DONA	190	1.00	\$37,510.00 CLASSROOM TEACHER 190
GOLLEHER	GENA	190	1.00	\$48,662.00 CLASSROOM TEACHER 190

GOODE	DOROTHY	200	1.00	\$57,139.36 SCHOOL LIBRARIAN 200 DAYS
GRAY	ALISA	190	1.00	\$49,752.00 CLASSROOM TEACHER 190
GROOME	TRIS	190	1.00	\$44,632.00 CLASSROOM TEACHER 190
HALL	BOBBI	190	1.00	\$39,580.00 CLASSROOM TEACHER 190
HALL	KRISTY	190	1.00	\$47,372.00 CLASSROOM TEACHER 190
HALL	THERON	190	1.00	\$50,152.00 CLASSROOM TEACHER 190
HALTOM	MANDI	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
HARDIN	JENNIFER	190	1.00	\$47,483.00 CLASSROOM TEACHER 190
HARLAN	KATHRYN	190	1.00	\$49,552.00 CLASSROOM TEACHER 190
HARP	CYNTHIA	190	1.00	\$49,952.00 CLASSROOM TEACHER 190
HARPER	CAROLE	190	1.00	\$57,100.09 CLASSROOM TEACHER 190
HARRINGTON	GAIL	190	1.00	\$49,952.00 CLASSROOM TEACHER 190
HARRINGTON	KAREN	190	1.00	\$56,694.00 CLASSROOM TEACHER 190
HAYNES	BRENDA	240	1.00	\$136,471.00 SUPERINTENDENT
HERRON	MICHELLE	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
HICKS	KAREN	190	1.00	\$49,952.00 CLASSROOM TEACHER 190
HILL	MANDY	190	1.00	\$43,253.00 CLASSROOM TEACHER 190
HILL	SUMMER	190	1.00	\$41,651.00 CLASSROOM TEACHER 190
HOGG	SARAH	240	1.00	\$74,450.61 CURRICULUM DIRECTOR
HOLLADAY	JODI	190	1.00	\$45,901.00 CLASSROOM TEACHER 190
HOLLINGER	ANGELA	190	1.00	\$47,901.00 CLASSROOM TEACHER 190
HONEA	AMANDA	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
HORNADAY	BARBARA	195	1.00	\$56,656.89 ELEM COUNSELOR 195 DAYS
HOUSTON	KATHY	190	1.00	\$43,720.00 CLASSROOM TEACHER 190
HOWARD	KELLY	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
HOWARD	MELISSA	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
HUGHES	ANESHA	190	1.00	\$41,070.00 CLASSROOM TEACHER 190
HURST	JILLIAN	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
HURST	SHANNA	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
JACKSON	KATIE	195	1.00	\$57,139.36 ELEM COUNSELOR 195 DAYS
JACQUES	JAMES	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
JENSEN	RONALD	190	1.00	\$46,924.00 CLASSROOM TEACHER 190
JOBE	ANDREA	190	1.00	\$55,833.00 SP PATH FULLY CERTIFIED
JOHNSON	SANDRA	190	1.00	\$46,481.00 CLASSROOM TEACHER 190
JONES	DEBORAH	240	1.00	\$70,408.56 ELE PRINCIPAL 240 DAYS
JONES	PAMELA	190	1.00	\$45,790.00 SPEC ED TEACHER 190 DAYS
JORDAN	KAYE	190	1.00	\$49,352.00 CLASSROOM TEACHER 190
KEEN II	LUTHER	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
KEISLER	JESSICA	190	1.00	\$39,580.00 CLASSROOM TEACHER 190
KEY	ANGIE	190	1.00	\$43,720.00 CLASSROOM TEACHER 190
KILBURN	MEREDITH	190	1.00	\$48,862.00 CLASSROOM TEACHER 190
KLEINE	SUSAN	190	1.00	\$51,533.00 CLASSROOM TEACHER 190
KNIGHT	TERESA	225	1.00	\$62,621.81 ASST PRINCIPAL 225 DAYS
KNOEDL	LISA	190	1.00	\$48,312.60 CLASSROOM TEACHER 190
KOON	JANNA	190	1.00	\$54,024.00 CLASSROOM TEACHER 190

LANE	/DOEKED	PAULA	190	1.00	\$40.552.00 CLASSDOOM TEACHED 400
LANKFORD LINDA 190 1.00 \$49,752.00 CLASSROOM TEACHER 190 LARKIN STACEY 190 1.00 \$45,301.00 CLASSROOM TEACHER 190 LEWALLEN LINDA 190 1.00 \$40,960.00 CLASSROOM TEACHER 190 LEWIS LINDA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190 LIUELY SHEILA 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 LOVEL CARRIE 190 1.00 \$45,901.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MANAMING TAMMY 190 1.00 \$36,200.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARNING TAMMY 190 1.00 \$34,930.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$41,942.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00<					
LARKIN STACEY 190 1.00 \$45,301.00 CLASSROOM TEACHER 190 LEWALLEN LINDSEY 190 1.00 \$40,960.00 CLASSROOM TEACHER 190 LEWIS LINDA 190 1.00 \$56,094.00 CLASSROOM TEACHER 190 LIVELY SHEILA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190 LONG TERRI 190 1.00 \$45,991.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$34,030.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MARYIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190					
LEWALLEN LINDSEY 190 1.00 \$40,960.00 CLASSROOM TEACHER 190 LEWIS LINDA 190 1.00 \$56,094.00 CLASSROOM TEACHER 190 LILES SANDRA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190 LIVELY SHEILA 190 1.00 \$45,901.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARSH CARLA 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 <td< td=""><td></td><td></td><td></td><td></td><td></td></td<>					
LEWIS LINDA 190 1.00 \$56,094.00 CLASSROOM TEACHER 190 LILES SANDRA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190 LIVELY SHEILA 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 LIVELY SHEILA 190 1.00 \$45,901.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 DAYS LOVELL DAYS LOVELD L					
LILES SANDRA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190 LIVELY SHEILA 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 LONG TERRI 190 1.00 \$45,991.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MARCHAN FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$34,234.00 CLASSROOM TEACHER 190 MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00					
LIVELY SHEILA 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 LONG TERRI 190 1.00 \$45,901.00 SPEC ED TEACHER 190 DAY: LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARNING TAMMY 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 DAY: MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCASLIN JANNA 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCCASLIN JANNA 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MCVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MCVER REBEKAH 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MCVER REBEKAH 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$36,300.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$36,500.00 CLASSROOM TEACHER 190 MORTON VICKIE 190 1.00 \$36,500.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLAS					•
LONG TERRI 190 1.00 \$45,901.00 SPEC ED TEACHER 190 DAYS LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MANNING TAMMY 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 DAYS MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARYIN LENDSI 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYVELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCASLIN JANNA 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190					
LOVELL CARRIE 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MANNING TAMMY 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 DAYS MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 DAYS MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCOAJ JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCVER REBEKAH 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190					
MAGALLANES FRANCISCO 190 1.00 \$34,750.00 CLASSROOM TEACHER 190 MANNING TAMMY 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCYCAIN JANNA 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MONTZ JOAN 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1					. ,
MANNING TAMMY 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 DAYS MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCASLIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCASLIN JANNA 190 1.00 \$36,720.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MOONTGOMERY KENDAL 240		-			
MARCHMAN LORI 190 1.00 \$51,733.00 SPEC ED TEACHER 190 DAYS MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCLAIN JANNA 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOONE MEDAHA 240 1.00 <td></td> <td>FRANCISCO</td> <td>190</td> <td>1.00</td> <td></td>		FRANCISCO	190	1.00	
MARSH CARLA 190 1.00 \$44,942.00 CLASSROOM TEACHER 190 MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCOYER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOONE STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOORE MARLA 200 1.00	//ANNING	TAMMY	190	1.00	\$38,200.00 CLASSROOM TEACHER 190
MARTIN LENDSI 190 1.00 \$42,341.00 CLASSROOM TEACHER 190 MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCAIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCITZ JOAN 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOORE MARLA 200 1.00	// ARCHMAN	LORI	190	1.00	\$51,733.00 SPEC ED TEACHER 190 DAYS
MAXWELL JEAN 190 1.00 \$43,031.00 CLASSROOM TEACHER 190 MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCAJIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MCITZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.	//ARSH	CARLA	190	1.00	\$44,942.00 CLASSROOM TEACHER 190
MAYO LINDSAY 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCLAIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELP PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00<	//ARTIN	LENDSI	190	1.00	\$42,341.00 CLASSROOM TEACHER 190
MCCASLIN KRISTI 190 1.00 \$47,392.00 CLASSROOM TEACHER 190 MCCLAIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00	//AXWELL	JEAN	190	1.00	\$43,031.00 CLASSROOM TEACHER 190
MCCLAIN JANNA 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORLY BOBBIE 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 <td>ЛАҮО</td> <td>LINDSAY</td> <td>190</td> <td>1.00</td> <td>\$35,440.00 CLASSROOM TEACHER 190</td>	ЛАҮО	LINDSAY	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
MCCOY JACKLIN 190 1.00 \$45,720.00 CLASSROOM TEACHER 190 MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 <td>/ICCASLIN</td> <td>KRISTI</td> <td>190</td> <td>1.00</td> <td>\$47,392.00 CLASSROOM TEACHER 190</td>	/ICCASLIN	KRISTI	190	1.00	\$47,392.00 CLASSROOM TEACHER 190
MCIVER REBEKAH 190 1.00 \$40,271.00 CLASSROOM TEACHER 190 MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$44,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00	/ICCLAIN	JANNA	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
MEYER JULIE 190 1.00 \$51,533.00 CLASSROOM TEACHER 190 MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$44,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00	ACCOY	JACKLIN	190	1.00	\$45,720.00 CLASSROOM TEACHER 190
MOLTZ JOAN 190 1.00 \$52,333.00 CLASSROOM TEACHER 190 MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00	//CIVER	REBEKAH	190	1.00	\$40,271.00 CLASSROOM TEACHER 190
MONTGOMERY KENDAL 240 1.00 \$74,400.61 PRINCIPAL 240 DAYS MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 <td>/IEYER</td> <td>JULIE</td> <td>190</td> <td>1.00</td> <td>\$51,533.00 CLASSROOM TEACHER 190</td>	/IEYER	JULIE	190	1.00	\$51,533.00 CLASSROOM TEACHER 190
MOON STEPHANIE 190 1.00 \$43,942.00 CLASSROOM TEACHER 190 MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00	//OLTZ	JOAN	190	1.00	\$52,333.00 CLASSROOM TEACHER 190
MOONEY DEBORAH 240 1.00 \$70,708.56 ELE PRINCIPAL 240 DAYS MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAYS MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00	ONTGOMERY	KENDAL	240	1.00	\$74,400.61 PRINCIPAL 240 DAYS
MOORE MARLA 200 1.00 \$60,904.03 SCHOOL LIBRARIAN 200 DAY MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00	/OON	STEPHANIE	190	1.00	\$43,942.00 CLASSROOM TEACHER 190
MOORE WHITNEY 190 1.00 \$36,130.00 CLASSROOM TEACHER 190 MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00	/OONEY	DEBORAH	240	1.00	\$70,708.56 ELE PRINCIPAL 240 DAYS
MORTON DANA 190 1.00 \$48,083.00 CLASSROOM TEACHER 190 MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 <td>//OORE</td> <td>MARLA</td> <td>200</td> <td>1.00</td> <td>\$60,904.03 SCHOOL LIBRARIAN 200 DAYS</td>	//OORE	MARLA	200	1.00	\$60,904.03 SCHOOL LIBRARIAN 200 DAYS
MOSLEY BOBBIE 190 1.00 \$47,572.00 CLASSROOM TEACHER 190 MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 </td <td>//OORE</td> <td>WHITNEY</td> <td>190</td> <td>1.00</td> <td>\$36,130.00 CLASSROOM TEACHER 190</td>	//OORE	WHITNEY	190	1.00	\$36,130.00 CLASSROOM TEACHER 190
MOSLEY PHYLLIS 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	//ORTON	DANA	190	1.00	\$48,083.00 CLASSROOM TEACHER 190
MOTE CHERYL 190 1.00 \$51,933.00 CLASSROOM TEACHER 190 MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	//OSLEY	BOBBIE	190	1.00	\$47,572.00 CLASSROOM TEACHER 190
MURPHY CYNTHIA 190 1.00 \$38,890.00 CLASSROOM TEACHER 190 NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	//OSLEY	PHYLLIS	190	1.00	\$49,952.00 CLASSROOM TEACHER 190
NALL GLORIA 190 1.00 \$49,952.00 CLASSROOM TEACHER 190 NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	ЛОТЕ	CHERYL	190	1.00	\$51,933.00 CLASSROOM TEACHER 190
NEELY ELSIE 225 1.00 \$63,521.81 ASST PRINCIPAL 225 DAYS NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	//URPHY	CYNTHIA	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	IALL	GLORIA	190	1.00	\$49,952.00 CLASSROOM TEACHER 190
NELSON VICKIE 190 1.00 \$55,894.00 CLASSROOM TEACHER 190 NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	JEELY	ELSIE	225	1.00	\$63,521.81 ASST PRINCIPAL 225 DAYS
NEWBERRY JERI 190 1.00 \$38,200.00 CLASSROOM TEACHER 190 NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190					• •
NEWCOMB ANNA 190 1.00 \$35,440.00 CLASSROOM TEACHER 190 NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190					
NEWCOMB READONNA 190 1.00 \$49,352.00 CLASSROOM TEACHER 190 NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190					
NORRIS MELISSA 190 1.00 \$57,199.00 SP PATH FULLY CERTIFIED NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190					
NOWLIN WHITNEY 200 1.00 \$49,158.53 SCHOOL LIBRARIAN 200 DAY OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	IORRIS	MELISSA			
OATES EDITH 190 1.00 \$50,152.00 CLASSROOM TEACHER 190	IOWLIN	WHITNEY			\$49,158.53 SCHOOL LIBRARIAN 200 DAYS
OVERTON MELISSA 190 1.00 \$54,314.00 CLASSROOM TEACHER 190		MELISSA	190	1.00	\$54,314.00 CLASSROOM TEACHER 190
PARKER ALICIA 190 1.00 \$47,172.00 CLASSROOM TEACHER 190					
PARKER MARGIE 240 1.00 \$71,408.56 ELE PRINCIPAL 240 DAYS					

J.I.C.I.	dan School B		C	ca contracts for Lord Lor
PATTERSON	LAURA	190	1.00	\$56,094.00 CLASSROOM TEACHER 190
PERKINS	NELODIE	190	1.00	\$47,572.00 CLASSROOM TEACHER 190
PFENENGER	RACHEL	190	1.00	\$43,253.00 CLASSROOM TEACHER 190
PHILLIPS	JAMES	190	1.00	\$39,580.00 CLASSROOM TEACHER 190
PITRE	PAULA	190	1.00	\$52,933.00 CLASSROOM TEACHER 190
PITTENGER	KATIE	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
PITTS	ANGIE	190	1.00	\$49,552.00 CLASSROOM TEACHER 190
PORTER	HEATHER	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
PORTER	MANDY	190	1.00	\$41,181.00 CLASSROOM TEACHER 190
POTTER	TINA	190	1.00	\$40,271.00 CLASSROOM TEACHER 190
PRICE	KAITLYN	190	1.00	\$38,214.95 CLASSROOM TEACHER 190
PUGH	STEPHANIE	190	1.00	\$49,752.00 CLASSROOM TEACHER 190
RASH	MARK	240	1.00	\$72,408.56 ELE PRINCIPAL 240 DAYS
RATCLIFF	CHASIDY	190	1.00	\$41,871.00 CLASSROOM TEACHER 190
REED	VAN	190	1.00	\$56,494.00 CLASSROOM TEACHER 190
REMOW	BILL	190	1.00	\$49,752.00 CLASSROOM TEACHER 190
RIDDLE	STEPHANIE	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
RIGGAN	LYNDSEY	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
ROARK	MARY	190	1.00	\$56,694.00 CLASSROOM TEACHER 190
ROBERTS	CYNTHIA	190	1.00	\$46,681.00 SPEC ED TEACHER 190 DAYS
ROGERS	LYNDSEY	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
ROOT	OLIVIA	190	1.00	\$37,732.00 CLASSROOM TEACHER 190
SCARBROUGH	JAMES	240	1.00	\$74,100.61 ATHLETIC DIR/ADM 240 DAYS
SCARBROUGH	KIMBERLY	190	1.00	\$48,702.00 CLASSROOM TEACHER 190
SCHATZ	REBECCA	190	1.00	\$50,352.00 CLASSROOM TEACHER 190
SCHULTZ	SUSAN	190	1.00	\$51,533.00 CLASSROOM TEACHER 190
SELPH	RAY	190	1.00	\$42,562.00 CLASSROOM TEACHER 190
SEMON	KATHARINE	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
SHORT	TANYA	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
SILER	MICKEY	240	1.00	\$76,900.61 DIRECTOR OF ADM SERVICES
SIMMONS	ALLYSON	190	1.00	\$47,392.00 CLASSROOM TEACHER 190
SIMMONS	MELANIE	190	1.00	\$45,212.00 CLASSROOM TEACHER 190
SITES	ASHLEY	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
SITES	WENDY	215	1.00	\$52,847.98 COUNSELOR 215 DAYS
SMITH	DEANA	190	1.00	\$49,352.00 CLASSROOM TEACHER 190
SMITH	DEE	190	1.00	\$44,632.00 CLASSROOM TEACHER 190
SMITH	FAITH	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
SMITH	STEPHANIE	190	1.00	\$46,235.00 CLASSROOM TEACHER 190
SOAPES	NICHOLAS	231	1.00	\$68,609.89 ASST PRINCIPAL 240
SPROUL	TRACY	190	1.00	\$43,031.00 CLASSROOM TEACHER 190
STEVENS	SHERRIE	190	1.00	\$42,562.00 CLASSROOM TEACHER 190
			1.00	\$51,933.00 CLASSROOM TEACHER 190
STINNETT	KRISTEN	190	1.00	yor, 900.00 CLAOONOON TEACHER 190
STINNETT	KRISTEN STACY	200	1.00	\$51,537.41 SCHOOL LIBRARIAN 200 DAYS

STRONG	VICKI	215	1.00	\$57,671.33 COUNSELOR 215 DAYS
STROUD	SHONA	190	1.00	\$43,253.00 SPEC ED TEACHER 190 DAYS
STYLES	JAMES	190	1.00	\$43,031.00 CLASSROOM TEACHER 190
SUMMIT	PAULA	190	1.00	\$48,862.00 CLASSROOM TEACHER 190
TAYLOR	AMY	190	1.00	\$39,580.00 CLASSROOM TEACHER 190
THOMPSON	SHARYLA	190	1.00	\$44,521.00 CLASSROOM TEACHER 190
TUBBS	DONNITA	190	1.00	\$55,633.00 SP PATH FULLY CERTIFIED
TURNER	ASHLEY	190	1.00	\$35,440.00 CLASSROOM TEACHER 190
TURNER	JUSTIN	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
VARNELL	TINA	190	1.00	\$38,890.00 CLASSROOM TEACHER 190
VENABLE	JENNY	190	1.00	\$45,632.00 CLASSROOM TEACHER 190
VINES	MICHAEL	240	1.00	\$59,782.95 VOCATIONAL 240 DAYS
WADDLE	AMY	215	1.00	\$60,470.06 COUNSELOR 215 DAYS
WALKER	BRITTANY	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
WALKER	NICKI	190	1.00	\$38,422.00 CLASSROOM TEACHER 190
WALLINGSFORD	DAVINA	190	1.00	\$51,263.00 CLASSROOM TEACHER 190
WALLINGSFORD	DEELEAH	190	1.00	\$53,585.00 SP PATH FULLY CERTIFIED
WALTERS	ANGELA	190	1.00	\$52,645.00 CLASSROOM TEACHER 190
WALTERS	TONI	190	1.00	\$51,154.00 CLASSROOM TEACHER 190
WALTON	ASHLEY	190	1.00	\$34,750.00 CLASSROOM TEACHER 190
WARE	CHARLENE	190	1.00	\$47,572.00 CLASSROOM TEACHER 190
WASHINGTON	KARA	190	1.00	\$48,772.00 CLASSROOM TEACHER 190
WATTS	KELLY	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
WEILACHER	LISA	190	1.00	\$49,552.00 SPEC ED TEACHER 190 DAYS
WESSON	PHILIP	190	1.00	\$38,200.00 CLASSROOM TEACHER 190
WEST	DOUGLAS	240	1.00	\$90,935.70 ASST SUPT
WHITAKER	CINDY	190	1.00	\$43,942.00 CLASSROOM TEACHER 190
WHITEHEAD	KIMBERLY	190	1.00	\$41,651.00 CLASSROOM TEACHER 190
WHITLEY	CHRISTY	190	1.00	\$47,483.00 CLASSROOM TEACHER 190
WHITMIRE	CYNTHIA	190	1.00	\$39,802.00 CLASSROOM TEACHER 190
WILLIAMS	CRYSTAL	190	1.00	\$47,172.00 CLASSROOM TEACHER 190
WILLIAMS	RODNEY	240	1.00	\$84,484.71 PRINCIPAL 240 DAYS
WILLIAMS	SUMMER	190	1.00	\$36,820.00 CLASSROOM TEACHER 190
WILLIAMS	VICKI	190	1.00	\$49,684.00 CLASSROOM TEACHER 190
WILLIAMSON	KIMMIE	190	1.00	\$40,960.00 CLASSROOM TEACHER 190
WILSON	CANDACE	190	1.00	\$43,253.00 CLASSROOM TEACHER 190
WILSON	CAROL	190	1.00	\$51,733.00 CLASSROOM TEACHER 190
WILSON	FREDA	190	1.00	\$53,914.00 SPEC ED TEACHER 190 DAYS
WILSON	MORGAN	190	1.00	\$41,651.00 CLASSROOM TEACHER 190
WILSON	ROY	210	1.00	\$62,779.64 GT/AP
WORKMAN	JANA	190	1.00	\$47,972.00 CLASSROOM TEACHER 190
YORK	KATHRYN	190	1.00	\$49,952.00 SPEC ED TEACHER 190 DAYS